Precal Matters \ WS 2.1: Alg Domains of Funcs
Name (v ’ Date Period

Worksheet 2. 1—Algebr ¢ Domains of Functions

Give simplified, exact values for all answers. No Calculator is Permitted.

I. Multiple Choice
C 1 If f(x)= -1 , then the domain of f'is given by the interval
-
(A) (Lw)  (B) (-3,3) @[1,3) U(3,0) (D) (-33)u(3,»2) (E)[L3)
¥ -120 X?ﬁﬁo
Y= | X 4
T X 213
2. Which of the following functigns has no vertical asymptote(s)?
=54
(A) f(x)= TS O f)m

e i S
(E) None, they ﬁl have at least one VA

/fC%*jz?&igJ
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\ / 3 Which of the following functions has a hole at (1,4)? \\J AN \
o x=Tho/e @)= X— 1\ 4 &//

mmm7;wx5w@ﬂ@ @ﬂ%jjwk

T~

(x+1)/2
(x=1)(11x+1) XX +3, x<I1
(x=1)(x+2)
L0lee "= |
nenel -z d

D)

() f(x)= {

x+4, x>1

A —_ e -~ -% |
4. Which of the following equations represents y as a function of x?

2+3y=5 B) y=x'-Tx+)> (€ x>~ —9=1"" (D) [x|-[5|=0 (E) None of these

!

A
&u 5. Which set of ordered pairs represents a function? (There may be more than one correct answer.)
{(@3).0:35) (9 )} ®) {(a3).(5:6)(1)-(69)) (O {(@3),(5:3).(c:3).(5-3)}
D) {(a,5),(a,-9).(a,0).(a,12)} @a,3),(b,5),(c,9),(d,9)}

| am giving answers in set and interval metation.
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II. Short Answer

6. Find the domains of the following functions. Use correct notation.

a) f(x)= 21 - b) g(x)=— 3: 5 ¢) h(x)=vx?+5x-6 ,
x° - X" +4ax+ 7—4,6><_/ng
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_ 2 o) i(x)= -1 x:L
d) k(x)= (x_2)2 ) J(x) I xr2 f) k(x) (2 )1/3
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7. Find all the discontinuities (if any) of the following functions, then classify them as Holes, VA’s, or

Jumps.
x—1 x=5 3x—6 34072
Y it)z X —x R f(x)= x* +25 ) f(x)— |x—2| ‘L
= i(j’z-l) X'Z_I_Z.S#D X;Zt#zb
= xx ) ; Dpiixlx+ 2%
)K(X'H\ (%-'\ 70 .D(' TK -PX =2 SumpP
k2D X £ k¥l distontinite
istonTinw
De:§x[x#0,7,13 "
X=| hol@
X < - VA
Halea*{l,é_")

3x% —3x-18
4x? -36

-1(:0() - (v ¥ -0)
4 (V-9

d) f(x)=

3 (V=) ( X+ 2) . )
 Hentn W ) /]a
4 (x+?)(x-2#0 e D_p |
Xt-3 Xt Hile at (3,9)

*x%-.{xw:r-p’,%?
X=-3 Vi
X=3 wolg

Hole ot (%, %)
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